AR o#ER —

BE

=

=
50
47 SF6ETAH3IH BEr  |RIETRE(EFALL)
BB |442.00 HATA |EMRETE T
&t == ==
IE4 Exaeﬁgfé’.@éﬁ%ﬁél{:ﬁfﬁ@;i;ﬁ (& ARl |REERE =% RE
A7) BRESGLEEHERTLT N o
(RBA) ” TN |mmE =X St
B |BIRET £ ik ARAE |[IBRFEFE AL
fga £ F64E8H7H %’_%’jza A74E3828H
AFLESE (A) AfLSnE
=55 Z1[g] F2[q REFIE BB EIZHR AT 7E Hh
B aM BMBIRE [EHRNERRR5E1E
1 6,350,000 ikl -
BIEOUH LAY MR [ RNET S EE 1182
2 7.800,000 2ot Eit 1 -
A=y Tyvray |EHEREHTEMEIZTH
3 6,900,000 gy 2B
B S TAo—Hfii 1B B A R ET2 — 11
4 6,200,000 QLA R —36
#HRXet FHAESER |EBHE/NETEHEREIS23E
5 6,200,000 = b -
6 5,500,000 s, (Poail BEMREY e ewam e s
R nﬁﬁé%l’ﬁ
HREtt THYAUH|EHE/NETIIAREIZE
7 7,500,000 " > 1% -
8 6,300,000 BragRithtay BT R IRTEERISE

131




